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Lesson 4.3 triangle inequalities answers

1 Õppetund 4.3 - Kolmnurk ebavõrdsus &amp;amp; Exterior AnglesKodutöö: 4.3/ 1-10, 12-16 2 Välisnurk TeoreemAn välisnurk kolmnurk ... ... on võrdne selle kahe kõrvalise sisenurga mõõtude summaga. kaug-interjööri nurgad Välisnurk 3 Välimise nurga teoreem (teie uus parim sõber)kauginterjööri nurgad 3 2 1 4 m &lt;1 +=&gt;&lt;/1&gt;
&lt;2 ==&gt;&lt;/2&gt; &lt;4 4= exterior= angle=&gt;&lt;/4&gt; &lt;BCD ==&gt;&lt;/BCD&gt; &lt;A +=&gt;&lt;/A&gt; &lt;B&gt;&lt;/B&gt; &lt;4=&gt;&lt;/4=&gt; &lt;1+&gt;&lt;/1+&gt; &lt;2 5= examples=&gt;&lt;/2&gt; &lt;G += 60˚=111˚&gt;&lt;/G&gt; &lt;G == 51˚= exterior= angleremote= interior= angles=&gt;&lt;/G&gt; &lt;G += 60˚=111˚&gt;&lt;/G&gt;
&lt;G == 51˚= 6= x=68° y=112° examples= find= x= &amp;= y= x= 82°= 30°= y= y=30 += 82= y=112˚Remote interior= angles= x= 82°= 30°= y= y=y == 112˚= using= linear= pair := 180=x 68˚=x x=68° y=112° 7= examples= find= 2x= –= 5=x += 70= x= –= 5=70 x=75&gt;&lt;/G&gt; &lt; jkm=2(75) -= 5= 8= solve= for= y= in= the=
diagram.examples= solve= for= y= in= the= diagram.= solve= on= your= own= before= viewing= the= solution= 9= solution= 4y= += 35=56 += y= 3y= += 35=56 3y=21 y=7 10= find= the= measure= of= in= the= diagram= shown.examples= find= the= measure= of= in= the= diagram= shown.= solve= on= your= own= before= viewing= the=
solution= 11= solution= 40= += 3x=5x -= 10= exterior= angle:= 5x= –= 10=5(25) -= 10=125 –= 10=115 25=x m=&gt; &lt; 1=m&gt; &lt; 1=65 12= checkpoint:= complete= the= exercises.= 13= solution= right= scalene= triangle= x= += 70=3x += 10= 70=2x += 10= 60=2x3 (30)= += 10=100˚ 14= triangle= inequalities= 15= construct= triangle=
def.make= a= triangle= construct= triangle= def.= d= e= d= f= f= e= 16= construct= triangle= def.make= a= triangle= construct= triangle= def.= d= e= d= f= f= e= 17= construct= triangle= def.make= a= triangle= construct= triangle= def.= d= e= 18= construct= triangle= def.make= a= triangle= construct= triangle= def.= d= e= 19=
construct= triangle= def.make= a= triangle= construct= triangle= def.= d= e= 20= construct= triangle= def.make= a= triangle= construct= triangle= def.= 5= 3= 13= d= e= q:= what’s= the= problem= with= this?= a:= the= shorter= segments= can’t= reach= each= other= to= complete= the= triangle.= they= don’t= add= up.= 21= triangle=
inequality= conjecturethe= sum= of= the= lengths= of= any= two= sides= of= a= triangle= is= greater= than= the= length= of= the= third= side.= add= the= two= smallest= sides;= they= must= be= larger= than= the= third= side= for= the= triangle= to= be= formed.= 22= triangle= inequality= conjecturegiven= any= triangle ,= if= a,= b,=
and= c= are= the= lengths= of= the= sides,= the= following= is= always= true:= a= += b=&gt; c a + c &gt; b + c &gt; a Kolmnurga ebavõrdsusteorem on väga kasulik, kui on vaja kindlaks teha, kas mõni 3 antud külge moodustavad kolmnurga või mitte. Teisisõnu, kui ülaltoodud 3 tingimust ei you can immediately conclude that this is not a
triangle. 23 Example Three segments are in length: a = 3 cm, b = 6 cm and c = 4 cm. Can these measures form a triangle? 3 + 6 = 9 and 9 &gt; 4 3 + 4 = 7 and 7 &gt; 6 6 + 4 = 10 and 10 &gt; 3 So a triangle can be formed! 24 Example Three segments are in length: a = 7 cm, b = 16 cm and c = 8 cm. Can these measures form a triangle?
= 23 and 23 &gt; 8 of 8 + 8 = 15 , but 15 &lt; 16. This condition is not met because the sum of these two sides is less than the third side = 24 and 24 &gt; 7 Because one of the conditions is not met, the triangle cannot be formed. If the two smallest lateral dimensions are no bigger than the largest side, then the sides do not make a triangle!
26 Can the following lengths form a triangle? Path Triangle Do the following lengths form a triangle? 1. 6 mm 5 mm 10 mm 2. 2 ft 13 ft, three. 5 cm 4 cm 2 4. 7 ft 15 ft 13 5. 10 mm 3 mm 6 mm 6. 4 feet 7 ft 77. 13 mm 13 mm mm 5 8. 8 m 7 m 1 m 9. 9 mm 2 mm 10 mm 10. 12 mm 22 mm 13 11. 5 mm 8 mm 12 12. 1 mm 5 mm 3 mm 27
Side corner The trajectory of the lateral angle is the longest opposite the highest angle; and the shortest side is opposite the smallest angle. Side AB is the shortest because it has the entire smallest angle (40 degrees).  Also, the side of B.C. is the longest because it has the entire largest angle (80 degrees). 28 Side-Angle b B a A C b a A
B c What is the largest side?60° 100° What is the biggest side? What's the biggest point of view? b B What is the smallest side? What's the smallest angle? (a) 29 lateral rank sides largest up to at least. b b c a c a c a c92° 42° 46° a b c b c a A Rank angles the largest and at least. A C B 7 5 4 C A B 30 Practice Find x. 25 + x + 15 = 3x -
10 x + 40 = 3x - 10 40 = 2x - 10 31 Find x and y. 92 = 50 + x 40 = x 92 + y = 180 y = 88 ExteriorLine corner pair 32 Find &lt; 1, 2, 3,&amp; 4LP: 92 + &lt;1 = 180 &lt;1 = 88 LP: &lt;2 = 180 &lt;2 = 57 EA: &lt;4 = &lt;1 + &lt; 2 &lt;4 = &lt;4 = 145 LP: &lt;3 = 180 &lt;3 = 35 33 Find the indicator in each numbered corner illustration. Outer angle
Theorem Simplify. linear pairs are complementary. Replace 70 on each side. 34 Outer angle theoremSubstitution Separate 64 from each side. If 2  a linear pair, they are complementary. Replacement Simplify. Subtract 78 from each side. 35 Disconnect 143 from each side. Angle amount theorem replacement easier. Subtract 143 each.
Answer: 36 Your turn: Find the measure of each numbered corner of the drawing. Answer: Lesson 4.3 - Triangle Inequality and Exterior Angles Homework: 4.3/ 1-10, 12-16Angle Exterior Angle... ... is equal to the sum of the dimensions of the two extraneous inner corners. Exterior Angle Theorem remote control inner corners Outer corner
distances inner corners 2 1 3 4 Exterior theorem(your new best friend) m&lt;1 + m&lt;2 = m&lt;4 Exterior Theorem m&lt;BCD = m&lt lt;A + m&lt;B m&lt;4 = m&lt;1+ m&lt;2Examples Exterior Angle Remote Corners m&lt;G+ 60° = 111° m&lt;G = 51°Examples Find x &amp; y Remote interior angles y = 30 + 82 y = 112° 82° 30° x y Using linear
pair: 180 = 112 + x 68° x x = 68° y = 112° Find examples 2x – 5 = x + 70 x – 5 = 70 x = 75 m&lt; JKM = 2(75) - 5 m&lt; JKM = 150 - 5 m&lt; JKM = 145°Solve for y chart. Examples Solve your before viewing Solutionsolution 4y + 35 = 56 + y 3y + 35 = 56 3y = 21 y = 7 Examples Find the measure shown in the figure. Solve yourself before
viewing Solutionsolution 40 + 3x = 5x - 10 External angle: 5x - 10 = 5(25) - 10 40 = 2x - 10 = 125 - 10 = 115 50 = 2x m &lt; 1 = 180 - 115 25 = x m &lt; 1 = 65Control point: Fill in exercises.solution x + 70 = 3x + 10 70 = 2x + 10 60 = 2x 30 = x Right Skalee triangle 3 (30) + 10 = 100° Inequality TriangleD F D E F E Road Triangle
Constructing Triangle DEF. D F D E F E Road triangle Build triangle DEF. D E Road triangle Build triangle DEF. D E Road triangle Build triangle DEF. D E Road triangle Build triangle DEF. D 5 3 E 13 Road Triangle Construction Triangle DEF. Q: What's the problem with that? A: Shorter segments do not reach each other to complete the
triangle. They don't add up. Triangle Inequality Conjecture The sum of the two sides of the triangle is greater than the length of the third side. Add the two smallest sides; they must be greater than the third half to form the triangle. Taking into account any triangle, if a, b and c are side lengths, the following sides are always filled:a + b &gt;
ca + c &gt; bb+ c &gt; a Triangle inequality theorem is very useful when it is necessary to determine whether or not one of the 3 sides of the triangle is present. In other words, if the above 3 conditions are not met, you can immediately conclude that it is not a triangle. Triangle Inequality Conjecture Three segments are length: a = 3 cm, b =
6 cm, and c = 4 cm. Can these measures form a triangle? Example 3 + 6 = 9 and 9 &gt; 4 3 + 4 = 7 and 7 &gt; 6 6 + 4 = 10 and 10 &gt; 3 So the triangle can be formed! The length of the three segments is: a = 7 cm, b = 16 cm and c = 8 cm. Can these measures form a triangle? Example 7 + 16 = 23 and 23 &gt; 8 7 + 8 = 15 but 15 &lt;
16. This condition is not met because the sum of these two sides is less than the third side 16 + 8 = 24 and 24 &gt; 7 Since one of the conditions is not met, a triangle cannot be formed. Just: If the two smallest side measures form larger than the largest side, then the sides make the triangle! If the two smallest lateral dimensions are no
greater than the largest side, the sides shall not make a triangle!10. 6. 4. 3. 11. 12. 8. 9. 5. 2. 1. 7. 6 mm 5 mm 10 mm 5 cm 2 ft 2 ft 9 ft 13 ft 7 ft 15 ft 13 mm 13 mm 7 m 1 m 4 ft 7 ft 10 mm 3 mm 6 mm 9 mm 10 mm 1 mm 1 mm 1 mm 1 mm 1 mm 1 mm 1 mm 1 mm 1 mm 1 mm 12 mm 12 mm 12 mm 22 mm mm Road triangle Do the
following lengths form a triangle? The lateral contour in the Triangle is the longest side opposite the highest angle; and the shortest side is opposite the smallest angle. Side AB is a because it's the whole smallest angle (40 degrees).  Also, the side of B.C. is the longest because it has the entire largest angle (80 degrees). C b a A B c Side-
Angle 60° 100° What is the biggest side? What's the biggest point of view? b B What is the smallest side? What's the smallest angle? a AA 46° b 7 a 4 42° 92° B C 5 Side angle Place the sides from largest to smallest. (b) (a) Arrange the angles from the largest to the least. C A BPractice Find x. 25 + x + 15 = 3x - 10 x + 40 = 3x - 10 40 =
2x - 10 50 = 2x 25 = x 3x – 10 3(25) – 10 65° x + 15 25 + 15 40°Find and y. 92 + y = 180 y = 88 92 = 50 + x 40 = x Outer Corner Linear Corner Pair &lt; 1, 2, 3, &amp; 4 LP: 92 + &lt;1 = 180 &lt;1 = 88 LP : 123 + &lt;2 = 180 &lt;2 = 57 EA: &lt;4 = &lt;1 + &lt; 2 &lt;4 = 88 + 57 &lt;4 = 145 LP: 145 + &lt;3 = 180 &lt;3 = 35Find for each
numbered corner measure in the figure. Outer angle Theorem Simplify. linear pairs are complementary. Replace 70 on each side. Replace the outer angle theorem Separate from each side 64. If 2  a linear pair, they are complementary. Replacement Simplify. Subtract 78 from each side. Answer: To simplify the angle amount theorem
replacement. Subtract 143 each. Your turn: Find the size of each numbered corner in the figure. Answer: Answer:
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